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Type - 01
1. What will be the unit digit of 4 x 38 x 764 x 1256 2
u(®)

—/
(2)6 (b) 81c) 4 (d) 5 2~/3/

2. What is the unit digit in the co-efficient. 813 x 986 x 471 x 603
5 s/ (W
(a) 6 (b) 44C) 2 (d) 3 ~ B

2 3
3. Find the unit digit of the product. 127 x 137 x 41

(a)6(b)8(c)10(d\)4/ \/05\/('(,//‘(, \x/;l\) A
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4. What is the unit digit of the product of all the prime numbers between 51 and 787

(a)6(W(d)3 €3 &0 4] 2 21 #3
N @

5. Find the unit digit product of all prime number.

@305 002 T N s



Type - 02
2%
1. What is the unit digit of 2167 6
(a) 2 (b) 4 (c) 61d) 8

2. Find the unit digit in the given factor (3451)°' x (531)*,(3451)*" x (531)*
(a)6 (b) 4 (c) A (d) 9

3. Find the unit digit in the given factors. (4211)'% x (361)%?
(@)3 (bYA (c) 4 (d) 7 S
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4. Find th it digit 225%
(a)g’(b) 3 (c) 4 (d) None of these

5. Find the unit digit. (211)'° x (36676)% x (2695)'"2

@U@ | g xe v (DD



#%‘nmm
Type - 03

1. Find t nit digit in the following. (1234)1\32/+ (1234)1‘0/C>
(2)246) 4 (c) 0 () 1 6 1¢ = /\&

we” v
2. Find the unit digit? (1329)76 + (2359)123 + (1234)102

(a)4 () 647 8 (d) 1 ) £ 16 = r@

3. Find the unit digit? (4)" x () x (4)° x (9)* x (4)° x (9)° ............ c@px e
(a)4 () 0 (c) 9 <M . 6/oo

¢ \.,1(( — ’%5"‘5 ><6
\/“”\" 7 J
D
G ¥ 0)

272 X7

e X / :@



'é%'mm

4. Find theunit digit? (4)" + (9)? + (4)® + (9)* + (4)° + (9)° ....... + (4)% + (9)1%°
(a)0b) 4 (c) 9 (d) 1 &
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Type - 04
1. Find the unit digit in. (257)* u(,/—’
(a)7 () 6 (c) 5 (d) 3 . |
FZ
/

2. 1f N = (307)% + (524)%°, then what is the Unit digit of N?

(a)6 (b) 54C) 3 (d) 4 <3 20
7 L\
7
7+

a1g = 1€

/0O
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3. Find the unit’s digit in. (263)'?® + (263)'2° + (163)"Y

(%@%5@1 ug g0 F%'
7 4+ 5

T
3 4343
qa +a + A

€
S

4. What is the unit digit of product of. 25 x 252 x 37 %S
(@)1 (b) 2 (c) 0(d) 5 ¢ 2z o]
8 AR x N

L X X 2
I

5. What is the last digit of. 5 x 141283 x 125254

2)8 (b) 1 (c) 2 (d) 0 ¢ \><f‘Q - ZD

Jﬁgﬂ
6. What will be the digit at unit’s place in. 4523632 x 22241832 x 32251632

(@)1 (0870 4 (@) 5 3‘4 X6 xS
N

O

R !
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" Level - 2
1.(18@ u
(a4 (b) 8 (c) 64d) 0
\V)
2. (2693 2
()2 (b) 6 (c) 14@) 3
6 "
3. (2347)" x (262)°, 7T A Q
(2)3 (b) 6 (c) 4 (ef 7 qle
&x6 =S —
u
8 A%
4. (9328)™ x (863)'
~— -—
(@)3 (b)6AC)1(d)7 6 X ’
- £
— -
(- —

sl =5
e x3XZ X!
0x9 *6‘7K€‘P}Wf

'0! F‘"/

3) - 2 X 2X|
-~ €

£ Rg-z
\.’

g x BRBXE
NG N
}%i\gff

(©

N =N CABD
Ntr 2 ovQ

5.. Find the digit in unit’s place of the value 124" x 104" where n is a whole number.?

(@3 4578(0)2(0)0
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